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Rese
Maths

What multiplications are shown by these arrays?
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g OSSN E T
ppis s P
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X = X —
.“ “‘ There are 4 groups of ____
“‘ “‘ There are 4 groups of X
Wy gy

999 009 | x| | x| = |X




What multiplications are shown by these arrays?

B o

g oA

B o

B

3 |X| 2 |=|6
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X
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X

A

.‘. “‘ There are 4 groups of 6

24

There are 4 groups of 3 x_2
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White
Reose
Maths

What multiplications are shown by these arrays?

@

@

@

@
000000
000000
000000
000000
000000
000000
000000
OOO0000

@O®O®® There are groups of
0000

Q@O®®@® There are groups of X
0000

0000 X X = X




White
Reose
Maths

What multiplications are shown by these arrays?

99899988
0000 00000000
0000 0000000

00000000
00000000

4 | X| 2 |=] 8 8 | X| 6 |=|48
0000
0000 Thereare _ 6 groups of 8

@O@®@®® Thercare O groupsof 4 x 2
0000

Q000 |4 X|2|X|6|=|8|X| 6




2x3x4=24
6

2X3=6
bx4d=24



5x2x9=90
10

5x2=10
10x9 =90






4 N white

No, that’sss incorrect. You

need to take the anssswer ——
and multiply it by the third
number in the calculation!

J

To multiply 3 numbers,
you multiply the first two
together and then add on
the last number.

Do you agree with Fiona Fox or Atticusss Adder?



